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(a) B3R % E 7T # A {t(orthogonally diagonalizable)4E [ » B R & $} #4545 & - (2%)
(b) 1&R ~ S A eslsEiE - Q9IRS = SR - 2%)
() R*—S2=(R+S)(R-S) - 2%)
(d) #23%RS =T 8|S = R™IT - 2%)
(e) RS =1> BIS?R? =1 - Q%)

2. AR K yAEx e 28 EB%)
sin(y)y" = cos(y) [1 — x cos(y)]

B THu=

cos(y)

3. RN Y yAHx e Hm@%)
x [n()]y" =y —x [In*(x)]y = 0

4MEAFTRE LY v Ry, BB 8 RHE%)
{ty{ —y1 =3y, = 0}
ty; —=y1+y, =0

5.(a) KTF 7 &$z Laplace 8% 34(8%) :
2e" [sin%(t)]

(b) KF 7 &z Laplace R &#(8%) :
in (25%)

6. UTEAMGMMAREEALE - @B S0 # 4 % 22 (Green’s theorem) (5%)?
INRGE- (y3~—7y)i+2x(y+1)} C Ry =1 B EPEZTIZ(5%) © (bMT3E £ 81
SUIG R # (Stokes” law) (5%)7 581§ 45 - yi+x]—xnzk » & @ 2 = +y x4y <9
B3+ =9, z=3 A4 > BHAZLTIE(0%) -

T EFGEOENHT > BUTHBRIFE & T3 x #1t65%#(25%):
ar  ar?
—=—, O<x<l, 0<¢
o ox
T(x=0,1)=0, 0<r

T(x,t=0)=f(x), 0<x<l
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